Name: unit 1,2,3
Q#1 Answer the following questions:

i. Define prefixes? Also write its examples. S e S S5 n

ii. How many divisions are in vernier scale? fom Ser 203 S8 jndiSew iy

iii. What is significant figures.write examples. $ 2 e LS i smadiy il

iv. Estimate your age in seconds. ol (e RIS 00001 1S jae A

v. Differ b/w Base and Derived Quantities? $ =2 BALS (e sl dsale 5l sl

vi. What is Meter Rod? Write its uses. S S 3, e

vii. Define Scientific Notation? € 2 e LS s (p 8 ST
Q#2 Answer the following questions:

i. Write down the uses of LIDAR gun? 0SS5 il S8 Iad

ii. Draw the shape of speed —time graph of a body moving with variable speed? ass s 5)S s S dal 5 05

ol ol S LS S

iii. How kmhconvert to ms™'? S0 S At (e S0 (B Jla S T3S 3 S glS

iv. How can vector quantities be represented graphically? ¢ Uas LS il S K68 £ S G5l 5505

v. Define Retardation? $ ol e bS i

vi. Prove that vi=vi + at oS @l

vii. Differ b/w Rest and Motion? with example. -0 o Ja € ) 5 LS i Glige gl Gy
Q#3 Answer the following questions:

i Difference b/w kinematics and Dynamics? S GA e OSlill ) 5) Sisa IS

il Define inertia ? § 3 e LS sl yil

fii. Prove that F=ma . - S Culd

iv. Define weight and mass? S 2 BALS (e )5 s e

V. Write advantages of frictions. -] Xl S S 8

vi. Write method to reduce the frictions? o Rk S S S S S

vii. Define Co-efficient of friction. Write its formula. -0 Y se Jld § 3 50 LS (038 8 Gl Sk & S
LONG QUESTIONS:

i Prove that 2aS = v¢* - vi’

ii. Define centripetal force write its equation.

iii. Define physics. Explain its branches.

iv. A chocolate wrapper is 6.7cm long and 5.4cm. wide . Calculate its area upto reasonable

number of significant figures.
V. Define law of conservation of momentum. Explain with derivation.
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Name: unit 1,2,3
Mcq’s part
D C B A Questions | i A
4 B e = te gl dy 1
Power Displacement |  Distance Speed Which of these 15 a vector quantity?
SfriEe | GdrEL | s | v ey
- - TR e A
Rotatory Linear Circular Random Brownian motion is an leof ' 2
Motion Motion Motion Motion pe ot
# . -
g .'_',e‘lzj"lil il o 5'4';)-'?5 ST 3
Work Acceleration | Velocity Force Which quantity 15 scalar?
K ¥ .r -
200kmb™ | 200ms™ 100ms™ | 100kmh™ THUE )
Falcon can fly at a speed of:
gt L e o Te 4 '_,"': L R Py 1
Velocity Mass Net Force Force Inertia depends upon:
i bl il o s g2
L - rematns . The momentum of an isolated system of two inferacting | 2
remams mull | 1s decreased 15 mcreased o
constant hodies:
I."";'.ﬁ- .:'.: IJI._H';:-{ J_l'f :;"_._-‘.;e:{;'_:_lvch:f;fhj’i 3
Newton Pound Kilogram Joule The ST unit of weight is:
e s s i ‘.-'.;__‘_:‘:’-Jﬁ'Fg‘if:}_:F%ip:,ﬁuﬂ._}iﬁf‘_‘:’!'._}lj Ay
= W o A = W . . . . . - 4
Momentum Friction Net Force Force E;mon s first law of motion is valid only in the absence
iy ¢ ¥ Fi v stiidlatogd e Ly )
Watt Newton Eilogram Pascal Which umit 15 not a denived unit?
el of Ll ir 12 st L3 ol 2
Distance Force Area Speed Identify the base quantity:
107 107 10 10° cadelFis| g
The value of prefix ‘femto’ 1s:
LTS
1 mm 00lmm | 0.00im 1 cm _ ¢HeET |y
The least count of screw gauge 1s:
BEST OF LUCK...!
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